The following diagram workflow shows how to calculate
measurement uncertainty, as detailed in the Guide to Expression of
Uncertainty in Measurement [1] [28], with an example of how
uncertainty was calculated within this research paper. This shows how
different sources can be identified and combined to create a more
confidence expression of uncertainty of a measurement.



1) IDENTIFY WHAT NEEDS TO BE MEASURED AND HOW

2) LISTSOURCES OF UNCERTAINTY FOR EACH STAGE
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3) QUANTIFY UNCERTAINTY COMPONENTS

Type A: Statistics and repeat measures
Type B: Provided from prior knowledge
e.g. calibration certificates

4) COMBINE UNCERTAINTY VALUES
Same units Different units
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Figure S1. Process flow of calculating measurement uncertainty, with a Flow Cytometry gating exemplar provided for illustration in this context.

Denote final measure as

1) FLOW CYTOMETRY POST-ANALYTICAL VARIATION, FROM
GATING STEPS

2) POST-ANALYTICAL VARIATION SOURCES OF UNCERTAINTY

Within this research, only the steps of the gating study were considered, to control
and identify the impact of the method alone. 3 repeats per person were used to
calculate a standard deviation for each step.
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3) QUANTIFY UNCERTAINTY COMPONENTS

An example of standard deviations of each step as defined above has been
quantified here. These are Type A uncertainties, because they are repeated

measures.

4) COMBINE UNCERTAINTY VALUES

Same units
u(y) = y(467)%+(0.08)2+(0.63)%+(043)%+(1.51)
u(y) =497

5) EXPAND UNCERTAINTY USING APPROPRIATE COVERAGE

A 95 % confidence interval was assumed within this research, allocating a
coverage factorof2 (k= 2)

U(y) =2x 497 Y +9.94

U(y) =9.94
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